CTPYKTYPA TECTY 3 AHIVIIMCHKOI MOBMU I10
PEKTOPCBKOMY KOHTPO/JIIO IIT KYPCY

TpuBanicTb BUKOHaHHS — 90 XBU/IMH.

1. 5 TeCcTOBUX 3aBAaHb Ha TpaMaTUKy piBHA B1.
[Mpuknazau: 1) The train was travelling 130 km an hour.
a) with b)by c)on d)at

2) Ihope we late for the meeting.
a) won’t be arriving b) won’t arrive c) aren’t going to arrive d) don’t arrive

2. 5 TeCTOBMX 3aB/laHb Ha TPaMAaTUKY DiBHA B1+.
[Mpuknagu: 1) I succeeded in ..... him that there was no danger.

a) convincing b) to convince c¢) convince d) has convinced

2) We have a bicycle. Now ... is being repaired.
a) he b)she c)it d)they

3. 5 TeCTOBMX 3aBaHb Ha TPaMaTUKY DiBHA B2.
[Mpuknazau: 1) The captain drop us from the team if we didn’t train.
a) accused to b) threatened to c) threatened that he d) complained to

2) Amanda breaking the plate, but we didn’t believe her.
a) denied b) admitted c) apologised d) asked

4. 5 TeCTOBUX 3aB/laHb 3 JEKCUKH 3ara/JIbHOTeXHIYHOTO CIIPSIMYBAHHS.
IMpuknagu: 1) As the temperature of the liquid is reduced, it into a block of ice.

a) evaporates b) melts c) solidifies d) condenses
2) The hydrogen fuel cell is good for the environment because it only water vapour
from their exhaust systems.

a) emission b) emits c) emitter d) emissive

5. UnTaHHY TeKCTY Ha MoOVTOBY TeMaTUKY Ta BiATIOBiIb HA 5 TeCTOBUX IMUTaHb 0 HLOTO.

MakcuMarnbHa cyma 6ariB, sIKy CTyZileHT Moxke Habparu 3a TecT — 25 TeCTOBUX basiB.

OpieHTOBHe BU3HAuYeHHsS! PiBHS BOJIOJiHHSI aHIVIIMCHKOIO MOBOIO 3@ pe3y/ibTaTaMu BUKOHaHHSI TeCTY,
CTIMPaUXCh Ha 3HaHHS T'PaMaTHKU U JIEKCUKH, BiJITIOBiZIHO 10 3aranbHOEBpOIelicbkux PekomeHarliii 3
MOBHOI OCBITH:

IaTpopykruBHMiA (A1) — 0-6 GasiB,

cepenHiii (A2) — 6,5-12 6ariB,

pybixawmii (B1) — 12,5-18 6aris,

npocynytui (B2) — 18,5-25.

Otpumani TecToBi 6amm OyayTh nepeBesieHi B 6aiu 3a 100- 6abHOMO LIKaIOH.



